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Q1. Write each of the following in exponential form:
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Q3. Express each of the following as a rational number in the form %:
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Q5. Express each of the following rational numbers with a negative exponent:
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Q6. Express each of the following rational numbers with a positive exponent.
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Q8. By what number should 571 be multiplies so that the product may be equal to (— 7)_1 ?

Solution:

Expressing in fraction form, we get:
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We have to find a number x such that
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Multiplying both side by 5, we get:
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Hence, 5" be multiplied by —% to obtain (— 7)_1A
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Q9. By what number should (%) be multiplies so that the product may be equal to (74) ?

Solution:



Expressing in fraction form, we get
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We have to find a number x such that:
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Dividing both side by 2, we get
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Q10. By what number should (—15)_1 be divided so that the quotient may be equal to (—5)_1

Solution:

Expressing in fraction form, we get:
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Q11. By what number should (%) be multiplies so that the product may be (%) ?

Solution:

Expressing as a positive exponent, we have:
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(v) We have:

Therefore, x = -1

(vi) We have:

Therefore, x = -4

Q13.
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(i) First, we have to find x.

Hence, X2 is:
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Q14. Find the value of x for which 52X = 573 = 53,
Answer: We have:
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Hence, x is 1.



